LARALIBREER D# i B IRICRE T D08k A #EH X LR ALIE LS
S 2 E£E

1 SACLOBALRRUSE
S A 4 5 6 7 8 9 ] 10 | 11 ] 12 ] 1 2 3 || BT
f:‘.‘ 946 819 934 981 915 880 924 845 1,019 744 756 9,763
ELR kQ 2,623.62]2,284.38]|2,560.36]2,746.16]2,607.46]2,366.14|2,517.45|2,291.15|2,887.27|2,007.22|2,025.41 26,916.62
%ﬂ:ﬁﬁf’ ‘f:‘.‘ 255 234 309 278 207 318 324 291 160 241 273 2,890
! s/34E kg 730.22| 651.91| 864.69| 782.28| 595.03| 895.92| 939.10| 822.95| 441.87| 665.87| 775.99 8,165.83
E_I_ ﬁ 1,201 1,053 1,243 1,259 1,122 1,198| 1,248| 1,136] 1,179 985| 1,029 0 12,653
A kQ 3,353.84]2,936.29|3,425.05]3,528.44] 3,202.49| 3,262.06| 3,456.55] 3,114.10| 3,329.14]|2,673.09| 2,801.40 0.00" 35,082.45

2 WIRKKESHHER
(BB AIFE)

(STEDx% | Bfy | ZEE |48 |58 |68 | 78 [ 8A [9A [10A|11A[12A] 1A | 28 | 38
KFEAA R |oH 58~86] 6.9 7.1] 68 65 6.7 76| 6.1] 6.7 66 7] 7.1
emrwsEEkE|mg/L | 2000 | 61 70 22| 50 83| 34| 20 46| 34 38 07

EEHBEERE|mg/L 1604 20 25 32 51 38 48 62 68 88 30 25

FEEE |me/L J0LLF 9 8 5] 13 6 1 1 5 5] 14 9
BIEYWAA > [me/L — 99] 240] 120] 190] 110] 110] 85| 95/ 100] 100] 100
BRUGEE |ms/m - 190] 190] 150 190[ 190] 180] 120[ 180[ 180] 180] 180
RiBEEZ |[18/cm  |3000LLF 0 0 0 0 0 0 0 0 0 0 0
ERahs |mg/L - 170] 180] 130] 140[ 150] 100] 95] 150[ 150] 160] 160

had=s |me/L - 0.68] 1.20[ 041 1.40] 1.10] o0.14] 0.16] 0.86] 0.79] 1.40] 1.20
BE i3 - 80| 78] 48] 60] 62[ 48] 28] 80| 48[ 70| 41
HEVH 4R228(5H8H|6H2H|7H7H|8A4H|981H|10868|11A6B|12818|1A5H|2H2H

3 Wi/KZSEB D HER (BURKKESITICMATTREEBZ2H)
(F2ERE 7A. 18

HEOXZ | Bfu | ZEE |48 [S5H [ 6A | /A [ 8A |98 [10A[11A[12A] 18 | 28 | 34 |
DiEmaEEaaE|mg/L | S0LLF | - - e = = = B RES I
ToE=T7HER|mg/L - - - - 110 - - - - - 80 - -
HRERTE = = |me/L - - - - 7.80 - - - - -] 12.00 - -

EBREER |mg/L - - - - 0.12 - - - - -]11.00 - -
TUEIT.TUECTIEE
¥, BRHEIEE YR ]mg/L 100 - - - 52 - - - - - 55 - -

UL EY

21x/—)LFE |mg/L 5LITF - - A RES - - - - mXES - -
T HEAE  |me/L 3LLTF - - — |oork® - - - - —Tootx - -

BIERE |mg/L 2T - - - [0.021 - - - - -1 0.016 - -
AEESEEElmg/L 10T | - - - 0.07 - - - - -| 0.05 - -
At vaEg|me/L 10LLF - - - 0.05 - - - - -| 0.02 - -
sOLEF"=|meg/L 2L - - — |oork® - - - - —Tootx - -
NI LARMEEY|me/L 0.03LLF - - — | 0003KH - - - - —| 0.003K - -
ST e Y Img/L 1LLF - - - |o1%i& - - - - —lo1%i& - -
AREBIEEY|me/L 1R - - - |01k - - - - —| o1k - -
AR WMMEE W |me/L 0.1LLF - - — |oot1k® - - - - —[oo1k - -
AEvO L& meg/L 05LLF - - - Jootx® - - - - —loo1kE - -
MEEVIEEW|mg/L 0.1LLF - - — | 0005KiH - - - - —| 0.0055K & - -
KEBERUTILEIL
7K§E%{g)i%g)7kﬁﬁ mg/L 0.005LLF] - - — | ooooski# - - - - —| 0000554 - -
E5FRRUIEEWIme/L 10LLF - - - 0.02 - - - - —[ootxm - -
SoREUVEEYImg/L | BULT - - - |ot1%® - - - - —lo1%i® - -

REVH - — - [7RA78] - - - - - [1A5H] - —

4 [FVERIERR
(F2EIAIE 68, 12H) _ -
AE0OX%E | Bl |48 (oA (68 | 70 [ 8H [9H [1OB[11H[12H] 1H [ 2H [ 3H

IEL‘D/\/}EJE g/MN - - 0.027 - - - - - 0.008 - - -
HRERBIEWERE]|ppm - - |1FRm| - - — - - 1R - - -
ZEREBIEWERE]|ppm - - 10 - - - - - 17 - - -

*%Hyﬁ - - |6H28B| - - - - - |w2@1B] - — _




5 HLRKEDHIER

(F3EAE 58.98.18) _ _ _ _ _ _ _ _ _
FT=D X B |48 | 5H| 6B 7B [ 88 |98 [10R[11H[12H] 1A | 2H | 3H
KeAT > EE|pH - 83| - - - 79 - - - 6.9] - -
EMEOBEERE|me/L - [5,900] - - - |6400] - - - [6,900] - -
LZHBRERE|mg/L - 37100 - - - 1400 - - - 4700 - -
FlEYEE |me/L - 4600 - - - 4900 - - - [11,000] - -
ErxahAs |meg/L - [2300] - — - [2300] - - - [4000] - -
HeEas  |me/L - 200 - - - 160] - - - 110 - -
ERERD |mg/L - [9400] - - - [ 8500 - - - [9,900] - -
REGEREY |me/L - [4200] - - - [2,000] - - - [1500] - -
#EA] - [5AsB] - - - |9g1A| - - - [1B58| - -
6 FRBEBKESHHER
(FE3mBIE 58.98.18)
j%@iﬂ‘_% B |4H[S5H[ 6B [ 7B [ 8B |98 [10H|11H[12H]| 1B | 2H | 3H
KEAABE]pH - 80 - - - 80] - - - 85 - -
EEnBRERE|mg/L - 13500 - - - 13600 - - - 13200 - -
LZHBRERE|mg/L - [1200] - - - 900] - - - 820] - —
FEYES |me/L - 600] - - - 450 - = - 450 - -
Exad= |me/L - [1,800] - - - [1,600] - - - 830 - -
HEE=s  |me/L - 120 - - - 120 - = - 130 - -
REREY |me/L - [3200] - - - [3,000] - - - [4500] - -
SREAVREEY) |me/L - [2,700] - - - [1,900] - - - [3.200] - -
#ERB]| - [58sBA] - - — |9g1A| - - - [1AsAa[ - -
7 BKEBRBHSER
(FE1EAIE 6H)
[A=Ox% | Bfu |48 [ 654 [ 6H [ 7H [8H [ 98 [10H[11H[128] 1H [ 2H [ 34
7 ILFILKERIEEM|mg/L - = [oovoskiE[ - - - - - - — — -
KEEX (FIEEW|mg/L - - |ooooskm| - - - - - - - - -
AL IFEEB|me/L - - Jooxm| - - - - - - - - -
AR FIEEB|me/L - — loorki| - - - - - - - - -
R EY|me/L - i CAE ] - - - - - - - -
Ao LEEY|mg/L - - |ootRiE[ - - - - - - - - -
MEXFEE?me/L_ | - | - [ows=a| - | - | - | - | - [ - | - [ - | -
T AEEY [me/L — - Joix@[ - - - - - - - - -
RUEILE =)l lmg/L - —  ooooskm| — - - - - - - — -
M)yOoOIFL2Img/L - e LUES] - - - - - - - -
Thoyo0TFLYImg/L - - |ootkim| - - - - - - - - -
/082322 Img/L - - Joozk@| - - - - - - - - -
MmIBERER |me/L - - |oookm| - - — — — — — — —
1,2-o4yaax42> | mg/L - —  Joooski| — - - - - - - - -
1,1->4yanx4>|mg/L - - |oo2kim| - - - - - - - - -
YA-1,2-Y"9R1FLYmg/L - - |ooaxim| - - - - - - - - -
1,1,1-M)90014Y|mg/L - - |o3x®E| - — - _ — _ — - —
1,1,2-F)90014Y mg/L - -  |oooskis| — - - - - - - - -
1,3-90A7'8AYImg/L - - Joookm| - - - - - Z Z Z -
Fo5.  |mg/L - —  |ooosxkm| - - - - - - - - —
I Img/L - —  [oooskim| - — - - - - - - -
FARAIL T mg/L - — [oozxm| - - - - _ _ - - -
RoE2 |mg/L - — ook - - - - - - - - -
LU X(FEEYImg/L - - |ooosskim| - - - - - - - - -
14-OF F Y2 mg/L - - Jooskm| - - - - - - - - -
sy A - [ - femed| - [ - [ - - [ - | -] -1 -1 -




